Math 346 Quiz 6A
March 7, 2016

Name: ANSWG[ZS

Instructions: No calculators! Answer all problems in the space provided! Do your rough work on scrap paper.
1. Fill'in the blanks:
Suppose the RREF of A4 is [,,, then
e The system AxX = b has Ohl\j 0N (“- L~ ‘?{UC—) solutiong/

e The matrix A is ¥\Olh- Slhjd(w( 6'!\/(.(*1 L_lg)singufar/non—singular)

o detA?E O
— . ==
e Thesolutionto AX = 0isX = O
e A1 KN S‘Eg (exists/does not exist)
Y s
2. Suppose A and B are invertible, then (AB)™* = E A
L /-3 S 3 Wy S/
ah Z | <3 37 = B8
3. Whatis the inverse of A = ( 2 -1 ~1)?A‘1 = s S5, N g S/4 3/
-3 4 4
Bonus: . L |
' IS o T (C’)
1. Let A be asin problem 3. Solve Ax = b, where b = ( 0 ) We havex = _\ " | v i
-1

: . 2 Coan Al
2. Suppose A, is a matrix with |4] = —3. What isdet 342474 = g' =73 ("2> (’3)( 2




